Group the dots and fill in the boxes.

2+2+2=

3lotsof 2 =
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4+ 4=

2 lots of 4 =

2+2+2+2+2=

Slotsof 2 =

3+3=

2lotsof 3 =

| 2+2+2+2=
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lots of 2 =

| 54+45=

| 2lots of 5 =
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| 3 lots of 6 =
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I 3+43+3+3=

4 |ots of 3 =

6 lots of 2 =

6 X 2=

3lots of 4 =

3x 4=
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5 lots of

5X3=
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3 lots of

3X7=




Use the array to help fill in the boxes.

242+2+2=

4 lotsof 2 =

3+343=

3 lots of 3 =

5+5=

2lotsof 5 =

3lotsof 2 =

2lotsof 3 =

7 twos =

2 sevens =

3 fives =

5 threes =

2 sixes =

6 twos =

4 threes =

3 fours =

|  Work out.

4 lotsof 5 =

3lotsof 10 =

Slotsof 2 =

6 lots of 5 =

8 tens =
9 twos =
10 fives=

6 tens =

8x2=
7X5=
10 X 10 =

6 xX2=

5% 5=
7 xX10 =

10X 2=

9X5=

16
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Group the counters. Fill in the boxes.

roup i

10is| B

groups of 2.

Group into 3s.
O 0 O
O 0 O

6is

groups of 3.

Group into 4s.
0°00%0
0% 00%0

12is groups of 4.

Group into 2s.
©0 %0
O 5 ©06

groups of 2.

8is

;)
l Group into 2s.

|
|Oo

|OO

0 0°o0
00°0

12is

groups of 2.

Group into 3s.

O 000

o0Co
groups of 3.

1 ©0
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| 12is

| Group into 5s.
O
O
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| 10is

Ooo
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groups of 5.

Group into 4s.

000000 0O
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| 16 groups of 4.

e
| Group into 3s.

| ot e
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e e * %, 8

18is groups of 3.

Group into 2s.

| .. * e * e : .
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| e e ® v . 3

| 18is groups of

| Group into 4s.

& o ® o
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| 24 is groups of

Group into 5s.

| 20is
|

groups of 5




Draw the groups of dots. Fill in the boxes.

How many groups of

2 make 67
° s
L J
3 | groups of 2 make 6.

How many groups of
4 make 8?

groups of 4 make 8.

How many groups of
3 make 97

groups of 3 make 9.

How many groups of
2 make 127

groups of 2 make 12.

|
|

How many groups of
4 make 127

groups of 4 make 12.

How many groups of
3 make 157

groups of 3 make 15.

How many groups of
2 make 147

groups of 2 make 14.

How many groups of
5 make 157

groups of 5 make 15.

| How many groups of
| 6 make 18?7

|
I
| groups of 6 make 18.
l
|

| How many groups of
4 make 20?
| ®

©
e
| ®
| groups of 4 make 20.

How many groups of
| 3 make 217

| e
|.
®

groups of 3 make 21.

| How many groups of
| 2make 16

groups of 2 make 16.




Sheet65 MULTIPLYINGPROBLEMS &)

Fill in the boxes.

PA) | |
| |

How many fingers How many sausages How many cakes

on 2 hands? | in 2 pans? | on 2 plates?

How many legs
on 3 chairs?

How many cherries
[ on 5 stalks?

Answer legs | Answer

How much are How many fish

four 5p coins? | in 2 tanks?

Answer p I Answer

— — — = = = = = = - = B

© |

8 rolls in one pack. | Three 20g weights.

5 packs.

rolls altogether. | g total weight.

|
|

7 days in each week. | 12 chairs in a row.

10 weeks. 5 rows.

days altogether. chairs altogether.




